DRAWN BY.—_
—! TRACED BY....
QUANTITIES BY.._....

. PLAN

_ ORIGINAL | SURVEY PLOTTED BY.. =~

'Nq' _

. - Hﬂ’E CRAYSTALENE® LA 2620

FED. ROAD STATE FISCAL | SHEET TOTAL
DIST. NO. PROJ NO YEAR NO. SHEETS

HAWAII HAW. [80B-04-70f 1970 7 9
_ |804A-01-70

/////41/I6"KEYH0LESLOT,WtTH5/8“ THRU BOLTS

"'jf%¥;n.f |

* LENGTH AS' INDICATED

ITEM NO. " DESCRIPTION

| LUMINAIRE, MERCURY, 250N OR 400W, AS INDICATED,
TYPE |11 WITH PHOTO-ELECTRIC CONTROL AND MAST ARM.
CONDUIT, 3/4" PVC SCHEDULE 80
IN LINE FUSE HOLDER W/10A'FUSE .
WIRE, NO. 10 AWG STRANDED COPPER, TYPE RHW BLACK
WIRE, NO. 10 AWG STRANDED COPPER, TYPE RHW WHITE
IN LINE UNFUSEB INSULATED SEPARABLE CONNEGTOR.
WIRE NO. 8 AWG 7-STRAND ALUMINUM, TYPE RHW

THIMBLE CLEV!S ALUM!NUM ALLOY WtTH ALUM. ALLOY
EYELET |

9 WIRES, 2 NO. 1/0 ‘CROSS-LINKED ‘POLYETHYLENE ‘ALUM.
B WITH NO.' 3/0 AAAC NEUTRAL MESSENGER

{0 ' PREFORMED GUY: GRIP
I GUY- WIRE 3/8" EHS, GALV

!2; ANCHGR BUY. HOOK - W/ 3/4" DIA. THRU BOLT AND 2-1/4"
: SQ. WASHER

13 : MESSENGER HANGER CAST ALUMINUM W/ 5/8" ALUMINUM
ALLOY THRU BOLT AND 2-1/4" ALUM. ALLOY SQUARE
WASHER

14 ALUMENUM SHEET WRAP (AROUND MESSENGER)

15 5/8" ALUM. ALLOY THRU BOLT W/2:k/2" SQUARE ALUM.
ALLOY. cunvsn WASHER, LENGTH AS REQUIRED.

16 ALUMiNUM ALLOY SUSPENSIGN CLAMPS WITH LINE GUARD
- AND ALUM ALLOY EYELET

17 ALUM. ALLOY PREFORMED DEADEND.

18 ANCHOR ROD, 5/8"x8' GALV.

19 CONCRETE DEADMAN 18" DIAMETER W/GALV. SQUARE WASHER
20 GUY. WIRE GUARD GALV.
21 INSULATOR , PORCELAIN

22 LAG SCREW

- 23 5/8" GALVAN!ZED THRU BOLT. W/2- | /2" SQUARE GALV.
: ‘WASHER AND NUT LENGTH AS REQUIRED

. 24 SPAN GUY HOOK
25 DEADEND SPOOL AND FORK

2" ‘SCH. 40 PIPE MIN.

3/4" CHASE NIPPLE WITH INSULATING BUSHING

® ~N OO A NN

£ DROP BY. HECO

. B@TTOMPLATE e el
. OF TRUSS ARM—t—

DETAIL
NTS

DBDETALL
NTS.

;(/’HECGPRJMARY" |

ri-R -_E Eﬂ

Y o

- A. .. .- e _B. __Q

STD. ENAMEL HIGH VOLTAGE SIGN _NSTREET LIGHT CONDUCTORS =~

RS T

. LAMINATED PLASTIC—

oG . Do

FUSE QUTOUT

CONTRACT *7;'(OBTAJN FROM STATE OR HE
LT. NO FROM STATE S

H- 490 T __:._ S _ R B NOTES

L - ;;__vj-;_f_{-JR- MR jj;*R_'&-ﬂ L gfj;f-ff,"'” o . -ALL. HARDWARE, UNLESS iNDtCATED AS ALUMINUM OR ALUMINUM
'-E“E_;":-~'-*L. : R N PR S D AP ' | ALLOY, SHALL BE HOT DIPPED GALVANIZED STEEL.

2. {PRGVEDE IDENTIFICATION TAG ON ALL POLES.

3. ALL TELEPHONE POLES. (TP) ARE EXISTlNG OR WILL BE INSTALLED
BY HAWAIIAN TELEPHONE CO.

‘4. STREET. LIGHT NUMBERS ON PLANS DO NOT CORRESPOND WI.TH
 NUMBERS ON tDENTIFlCATION TAGS .

i*4i.0LEA3ANCE,;gj_~;;_;f

3 i/2"X4 1/2")(85 0" _ ;
;CROSSARM

TDEADEND INSULATOR ON OPPOSITE ; |
;s&az OF CROSSARM - R v
' 34”?0RBSS§RM&BRAGETLRi_““

| BOLT TRANSFORMERvsuppoaxaqzii:ﬁ

ikﬁgtiiﬁ?ﬁ?[fl"f
i _

* “YELEPHONE CABLE LOCATION =

2. LETTERS T BE*NO 5 RfiUCTteN

|§ﬁ3WSNTu-'"£Eff: | 1/5" ENGRAVED OR_.TENCILEQ

;}ﬁ;:t;_‘|29/240v'

IBENTIFICATION Tﬂéﬁ7{f"7

* L~ NEW POLE 35 CL3 OR EXIST.

. #6 B.C. INSULATDR§ GUY

ix-fE?BAQE;AND HARDWARE - "f;f;+ma»§iRECTJ@N;OF*STéKE&;‘

46 B.C. SECONDARY
NEUTRAL = .

v

. #4B.C:

MOUND AND TAMP EDGE. j.'”°
OF ROAD 3

 (FINISHED GRADE

‘*é#ﬁ““'

J////GRD ROD

—m—

4347 " POLE KEY FROM '”?§§T;
6XB"Xd" CONC. BLOCK—

ii
11
| I

LGCATE ON S]DE GF PULL .

_ INF. 484  STATE OF HAWAN

DEPARTMENT OF TRANSPORTATION
HIGHWAYS DIVISION

GROUND CONNECTIONS

»
e
=l
|

CHECKED' BY.

© INSTALLATION OF HIGHWAY LIGHTS
~ PROJECT NOS. 833*01‘70-
804A-01-70

L?ANEIUS DETAILS

_INDJCATED

%

//f 1o ~J - fNDT HAVE GUYIN
POLE SETTING DEPTH FGR - .
NEW LIGHT POLES -

.EﬁijAIL JAANE

CDETAIL :f331;{5f3i73**?¥5f“”""'
s

C Btpei e Gotrng OCTGBER 1970
T Neen§ C Cloma, W | 'SHEET No. | OF ; SHEETS

TRACING PAPER




.| DIST.NO.

PROJ.NO. | = YEAR

TOTAL
SHEETS

' HAWA"

.9

= ]

ﬂDMA* DiMéﬁ$iQNS;

upm .

o

_f-f S?éf’.o;.ir i 3t

—WRAP THO TUR
{FROM ALUM CO

STATE OF HAWAH

'DEPARTMENT OF TRANSPORTATION




	83B-01-70, 80B-04-70, 804A-01-70_007.TIF
	83B-01-70, 80B-04-70, 804A-01-70_008.TIF

